1. ax+b>09 307 x <2 W, (a+ b)x < 5b 2] sl=2

D x>5 @ x>10 ® x<1

@ x<5 ® x<10



2.

3x—

3<x—-6,4x+6<6x+92 LT TE5tE x99 F

rlo

©-2 @ @ @0 ®

N |



@D 178

3(x—1)=2+4(2x-5)
2(3 - 2x) < —x + 10

@ 374 ® 57}

2 w5

@ 6 71

rr

oFel 4
3 77



3x-3<x-6
2x+3<0.5(6x+9)

@ x
® x

I/\
N | Qo

of sfl=?






357t 2 AL 1, a 9]

® -2<a<-1



2

< —

2x+5<3x+2
4

x—5

M{
=

H =
AHES

7.

1 ® 2 @ 3 ® 4

D0



FTAEITE ) e s ol A1 0 of 3He) W9
2x—a>x+5
@D a<-2 @ a>-2 ® a<-3

@® a< -3 3 a> -3






10.

ol ot

Yo
tot.

12707} &L, 6704
A AR A 3



el

nH

<k
7o

X
)

™

n_AlO

oju

l<x+5y<5
-2<2x4+7y<3

AR (x, y)T x+y ol UG 2

M +2m 2] Fk

AYR 5

11.

ShH?

?‘

O
=

A
T_'T

® =13 B —18 @ —-929 B —-26

D -9



12. a, b, c= A5l ala+b+c) >0, a(b+2a) <02 WHHAZ o,

ab[ 710, b(a+b+c)[TF]oolth. 7}, tol] gk 7] 5 2 A}el| 2 2209

O < < @ <, >
® >, > @ >, <

B AATE S 9ot



